
1/1

MSK 010 Fixed Sine Bank exploded

$Id: exploded.dxf 5475 2017-04-21 19:34:45Z mskala $

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

F F

E E

D D

C C

B B

A A

8× knurled nuts
for jacks

4× M3×6 machine
screws with nylon
washers (for mounting
module to rails)

2× M3×6 machine
screws without washers
(for mounting boards
to panel) 2× M3×11

standoffs

2× M3×10
standoffs

2× M3
hex nuts


